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[10] 1. Find the limit of the sequence of functions
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[4] 2. (a) Calculate the first three Taylor polynomials Po(x), Pi(z), Py(x) of the func-
tion f(x) = cos(z) + sin(z) about 0.
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[6] (b) Use Taylor’s remainder formula to show that the MacLaurin series of the

function f(z) = cos(x) -+ sin(z) about 0 converges to f(z) for all x.
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[10] 3. Find the open interval of convergence for the series
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[10] 4. Find the power series for the function

, 1 .
Flz)= T— + In(2)

centered at 1 and state your answer as a single sum. State the open interval of
convergence as well.
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(10] 5. Find the sum of the power series

i:n{l

State its open interval of convergence as well.
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